package jp. ict.aso.model;
import java. io.Serializable;

public class CalendarHtmIBean implements Serializable {

private int year;

private int month;

private int week;

private int end;

private String weekStr;

private String resultCalendar;

public CalendarHtmIBean() { }

public CalendarHtml|Bean(int year, int month) {
this. year=year;
this. month=month;
resultCalendar="";

public String getResultCalendar () {
return resultGalendar;

public int getYear () |
return year;

public int getMonth() |
return month;

public int getWeek ) |{
return week;

public int getEnd( |
return end;

public void setYear (int year) |{
this. year=year;

public void setMonth{(int month) |{
this. month=month;

public String getWeekStr () {
return weekStr;

: }
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public void createCalendar () {
int e, w;
int y=year;
int m=month;
w = week_of day(y, m, 1); // B#)
e = month_last_day(y, m); // BXE
week=w;
end=e;
//RELER
resultCalendar=resultCalendar+"<br>"+getYear () +" & "+getMonth O +" 8",
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resultCalendar=resultCalendar+“<table border=1>";

resultCalendar=resultCalendar+"<tr><th> B </th><th> k</th><th>7K</th><th>&K
</th><th>éE</th><th><font color=blue>t</font></th><th><font color=red>H

</font></th></tr>
resuItCaIendar resultCalendar+"<tr>";
it (w==0) { //TBHBERIZA S & Eidweek=04 D THAIIZE=TH

for (int k=1;k<7;k++) {
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for (int

}
for (int
//E

if(is_|

resultCalendar=resultCalendar+"<td> </td>";

=150 <= w-1;

i ++)

j=1:j<=e; j+) |

Bl
holiday (m, j) ) {

{ // TBETCEETHENHD
resultCalendar=resultCalendar+"<td> </td>";

// ZHEBETRTT S

resultCalendar=resultCalendar+“<td align=right><font
color=red>”+j+"<{/font></td>";
lelse if ( (j +w-1) %7 ==

color=blue>"+j+"</font></td>";
lelse if ( (j +w-1) %7 ==

color=red>”+j+"</font></td>";
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}
// g
if (
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}

Isef

6){ //TERIZE
resultCalendar=resultCalendar+“<td align=right><font

Ol //BBIEFE
resultCalendar=resultCalendar+“<td align=right><font

resultCalendar=resultCalendar+“<td align=right>"+j+"</td>";

HT®AT
(J+w- 1) % 7==0 {
es

ultCalendar=resultCalendar+"</tr><tr>";

}
| resultCalendar=resultCalendar+"</tr></table><BR>";
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public int w
int w;

if(m==
y:
m:
else |f(

y =
m =

}
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w= (5%
switch(w
case 0:
case 1
case 2:
case 3:
case 4:
case b:
case 6:

return

eek_of_day (int v,

y -1
13;
m==2) {
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int m,
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int dy{

y/ 4-y / 100 +y /400 + (26 *xm+ 16) /10 +d ) % 7

){
this. weekStr="H

‘this. weekStr="8"

this. weekStr="1"
this. weekStr="7k"
this. weekStr="XK"
this. weekStr="%&"
this. weekStr="1"
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public int month_last_day(int
int d =0, last[] = 31,
if m==2) {
// FEETS 5+
if(is_leap_year (y))

“break;

;break;
;break;
;break;
;break;
;break;
;break;

(Lﬂﬁ)ﬁwr%ﬂ*/
30, 31,

in
28 31,

{
d = last[m-1] + 1;

tm{
30, 31,

31,

30, 31,

30, 31};



122: lelse |

123: d = last[m-1];

124: }

125: }

126: else if m>=128& m<=12) |
127: d = last[m-1];

128: }

129: return d;

130: }

131:

132: Jxxx FEEDETE *%k%/

133: /* (RBI1%) v:EEBE (ORIME) 1:FEE 0:FEES */

134: public boolean is_leap_vear (int y) {

135: boolean |y = false;

136: if (y%4==0 & (y %100 '=0 || y % 400 == 0)) {
137: ly = true;

138:

139: return ly;

140: }

141: /xrex (REHDIRTE wrx/

142: /* (RB1%0) m A d:B GRAME) True:fkH False:FH */
143: public boolean is_holiday(int m, int d) {

}2@: boolean hd=false;

146: int holiday[] = {101,109, 211, 223, 321, 429, 503, 504, 505, 717, 811, 918
147: 923, 1009, 1103, 1123} ;

148: for (int i=0;i<holiday. length;i++) |

149: int mm=holiday[i]/100;

150: int dd=holiday[i]%100;

151: i f (m==mm && d==dd) {

152: hd=true;

153: }

154: }

155: return hd;

156: }

157:

158: }



